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CHAPTER 7

INTEGRALS

POINTS TO REMEMBER:
L[ x"dx = ’::: +€(n=—1)

1
E.I;dx =leg|x| +C

3. [efdx=e*+¢C

4. [ a*dx = =

+
leFn

5 [simxdr = —cosx+C

6. [cosxdx=sinx+C

7. [ sec’txrdxr —tanx + C

8. [coseclxdx=—cotx+C

9. [secxtamxdx = secx + €

1I].f cosec x cotxdxy = —cosecx +C

11._rtﬂIl.||'-!i:l' =log|secx|+ C= —log|cosx| +C

12 cot xdx = log|simx| + € = —log| cosecx| + €

13.] secx dx = loglsecx + tanx| + C = log tan E+%}+ c

14.[ cosec xdx = log |cosec x —cot x| + € = log| h“%' +C

1 1
15[ g—dx = _log| —| + €

[{he gt 3

T 1
16 5 dx = —log|

o |.'I"I|+E
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7 , dx——tan ‘§+C
18f—,=dx = sin~1 -+C
-%

1

v'.!’—ﬂl

10.[ dx = log|x + VxZ—a?|+C

5 n » == e
ﬂfﬁdl log|x+\x +a|+C

21. f\/a — x?dx = -\m-k?sun ‘E--i-(.‘
22.]\’?—_a’dx=;\’;z—_a!—%‘log|x+vr;’—_afl+c

23. fVa? + x?dx = -\W+—log|x+ Vazt 23|+ G

24, Integration by parts: [w.vdx = w. [ vdx — [ {::—:.fvdx}dx+c
25 fe'{fix) + fx)ldx=e'flx)+C

26. [ e sin{bx +¢) dx = - [a sin(bx + ¢) — b.cos(bx + ¢)] + €

27 fp.:i:u tqeosx

——————— dx — Ax + B log|a sinx + b.cos x| ~ C whare,
o sin x+heo sx

_ apibg _ ag-bp
A= ygr®B=gr

28. [ ™. sin(nx) dx = ;',;T [ sin(nx) — n.cos(nx)] + €

20. [ e™*.cos(nx)dx = [m sinnx) + n.cos(nx)| + C

w'fn'ws'r-tb'cln't dx = ﬁtan-t(%tmx) +€
32, f fixldx = [F(x)]2 =F(b) — F(a), where F(x) =/ f(x)dx
33, [ flx)dx = [ fie)at

M.fabf(dex = —f:f(x)dx
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35._[:’ flx)dx —f: flx)dx+ _f;b [ lx)dx

36.f:f(x]dx =J:f(a — x)dx

37.f2 f(x1dx = [ fla+ b —x)dx

38. [ flx)dx = [ [f{x) + f(—x)] dx

30 [ f(x)dx = [J[f(x) + f(2a — x)]dx

40. ¥ £(x) isa periodic fonction with period *T', then [ f(x)dx =n [ f{x)dx

41. Walli's Formula:-

m—1)n—-3)n-5_.1mn
n.(n—2)(n—4)..2 2

(n—1)n—3)(n—-5)_2
nin—-2)(in—4)..1

w E 4

= & if niseven
fs:'n" xdx = f cos”" xdx =

0 b

1 ifnisodd

42. f: | f(x)|dx, limit of this integral will split at all those points for which f{(x)=0

and a< f(x)< b
N ¥ -
43. [Nog|sinx|dx = [l log|cos x| dx = —log2

PP g L — 3% :;(b— a)

e Mo tfatb-x)
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47 J-; atanxtbeots

w
0 umrteers dx= ;(a Lz b)

45, [Tamionibiveg., =Z(a+ b)4o.

0 gosecstaecx

24

J ——7 | if a—Dbis odd

osinax.cosbxdx:{..!—g,x ifa is 0
0 :ifa— hiseven
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